The following hypotheses are given.

H0: π ≤ .70

H1: π > .70

A sample of 100 observations revealed that ρ = .75. At the .05 significance level, can the null hypothesis be rejected?

a. State the decision rule.

b. Compute the value of the test statistic.

c. What is your decision regarding the null hypothesis?

SOLUTION

When the hypothesis is written down it look very similar however, it occupy the relevant position to test the hypothesis. In addition to that, null hypothesis reflects the result which shows no effect to the experiment and null hypothesis refers as the equal sign, denoted with Ho. Hypothesis testing is an important step which involves the cautious development of two statements together.  In addition to that, if researchers want to disapprove the hypothesis then researcher use null hypothesis. 

a.
Ho is rejected if z> 1.645

b.
1.09, found by 
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c.
Ho is not rejected
